Mahing hmd wor h easy

e

January, 2007

Post Driver Service Bulletin
Nurber 51-HD

SM 0011-SAA07 S*lfety Arm Attdchment

To Mount thc: SM 0011-SAAQ7 Safety Arm Attaohment
to your Post Driver, you will need to use Ule template shown
on the right edge of this page.

Place the 1emp1atc on the side of your short channel
between the pins and drill (2) % holes. Bolt the Safoty Arm
Attachment in place using the bolts and hex nuts provided,

When finished, your Past Driver will have the Safety At
Attachment positioned as shown in the picture above,

Shaver Manufacturitsyg Company
Selting the siandard in fencing, stemp removal and log splitting equipment

PRSP NPGN F A

e i

Corporate office: 5197 Maple Drive, Suite K, Pleasant Hill, IA 50327 USA - 515-266-7550 « Fax 515-266-7844 » shavenntg@metsi,com

Manulucturing plant; LO. Box 358, Gracttinger, [A 51342 USA « 712-859-3203 « Pax 712-850-3294 « sales@shavermfg.con

www.shaverm{y.com




MOUNTING INSTRUCTIONS

FOR THE SM-0811-SAA SAFETY ARM ATTACHMENT -

" [PRERTRESWWS)

CARRIAGE
MOUNTING
PLATE(S)

PRI N N [

ey

FOR HR-f POST DRIVER WITH MANUAL BASE PLATE:

AFTER MOUNTING THE SM-001 SHORT CHANNEL ($1'EF 9 IN THE
OPERATOR’S MANUAL UNDER ASSEMBLING THE POST DRIVER),
BOLT THE SAFETY ARM ATTACHMENT TO 2) HOLES THAT ARE
NOT IN USE ON THE CARRIAGE MOUNTING PLATE (SFR
ILLUSTRATION), USE THE 2) 3/4" X 1-1/4” CAP SCREWS, 2) 14”7
LOCKWASHERS AND 2) 3/4" LOCKNUTS PROVIDED, ONCE ARM

ATTACHMENT IS BOLTED SECURELY, CLOSE OVER THE DRIVING RAM.

FOR HD-8-H POST RDRIVER WITH HYDRAULIC BASE PLATE:

AFTER MOUNTING THE HBP-909 SHORT CHANNEL (STEP 16
IN THE OPERATOR'S MANUAL UNDER ASSEMBLING 1HE FOST
DRIVER WITH AYD, BASE PLATE), BOLT THE SAFETY ARM
ATTACHMENT I'C 2) HOLES THAT ARE NOT IN USE ON THE
CARRIAGE MOUNTING PLATE (SEE ILLUSTRATION), USE THE
2) 3/4" X 1-1/4” CAP SCREWS, 2) 3/4" LOCKWASHERS, AND 2)
3/4” LOCKNUTS PROVIDED, ONCE ARM ATTACHMENT IS BOLTRED
SECURELY, CLGSE OVER THE DRIVING RAM,

FOR THE HD-18 POST DRIVER WITH MANUAL BASE PLATE;

AFTER MOQUNTING THE §M-101 SHORT CHANNEL (STEP 5 1IN
THE OPBRATOR’S MANUAL UNDER ASSEMB]ING THE PCST
DRIVER), BOLT THE SARETY ARM ATYACHMENT TO 2) HOLES
THAT ARE NOT IN USE ON THE CARRIAGE MOUNTING PLATE
(SEE ILLUSTRATION), USE THSE 2) 3/4" X 1-1/4" CAP 8CREW AND
2) 2/4" LOCKWASHERS PROVIDED. ONCE ARM ATTACHMENT I8
BOLTED SECURELY, CLOSH OVER THE DRIVING RAM,

%M%&QHMM&MWDP&L&
BASE PLATE:

AFTHER MOUNTING THE HBP-809 OR HEP-$129 SHORT CHANNEL
(STEP 16 IN THE OPERATOR’S MANUAL UNDER ASSEMBLING THE
POST DRIVER WITH HYDRAULIC BASE PLATE), BOLT THEE SAFETY
ARM ATTACHMENT TO 2) HOLES THAT ARE NOT IN USE ON THE
CARRIAGE MOUNTING PLATE (SEE JLLUSTRATION). USE THE 2)
34" K 1-1/4" CAP SCREW AND 2) 3/4" LOCKWASHERS PROVIDED.

DRIVIN{G RAM,

ONCE ARM ATTACHMENT IS BOLTED SECURELY, CLOSE OVER THE



Yo’

ASOENDLY U FUD I URKIVER WIIT MYURAULIC DADE FLAI L (LOoHL U)

26.

26,

27.

Connect the remaining end of the 120" Black Pressure Hose fo the Pressure
outlet of the tractor or skid loader hydraulic system with pressure adaptor
provided (172" St. EIl).

Connect remaining end of the yellow Return Hose to the filler opening of the
tractor or skid loader hydraulic system by using a return adaptor. This must be
purchased separatsly by specifying model number of the tractor or skid loader.

Before operating the Post Driver, check the Lock Nut at the top of the Driving
Ram Cylinder to be certain that it is % turn from being tight, The Lock Nut should
he just starting to pull the Lock Washer together. This provides a cushion against

shock for the Driving Ram Cylinder. (Refer to picture at right.)

Channel, (Refer to picture at left.)

VWOUNTING INSTRUCTIONS

"FOR THE SM-0011-SAA SAFETY ARM ATTACHMENT

FOR HD=8‘PC)ST DRIVER WITH MANUAL BASE PLATE:

Aftar mouniing the SM-001 short channe!l (Step 9 in the aperator's manual under assem-
bling the post driver), bolt the safety arm atiachment to 2) holes that are not in use on
the carriage mounting plate (see {llustration). Use the 2) 3/4" x 1-1/4" cap screws, 2) 3/47
lockwashers and 2) 3/4" locknuts provided. Once arm attachment is bolted securely,
close over the driving ram.

FOR HD-8-H POST DRIVER WITH HYRRBAULIC BASE PLATE:

After mounting the HBP-909 short channel (step 16 in the operator's rmanual under
assembling the post driver with Myd. base plate), bolt the safety arh atachment to 2)
holas that are not in use on the carriage mounting plate (s¢o illustration). Use the 2) 8/4
x 1-1/4" cap screws, 2) 3/4" lockwashers and 2) 3/4" locknuts provided. Once arm aftach-
ment is bolled securely, close over the driving ram.

FOR HD-10 POST DRIVEH WITH MANUAL BASE PLATE!

After mounting the SM-101 short channel {step 9 in the operator's manual under assem-
bling the post driver), bolt the salety arm attachment to 2) holes that are not in uge on
the carriage mounting plate {see fMlustration). Use the 2) 3/4" x 1-1/4” cap screws and, 2)
3/4" lockwashers provided. Onge arm attachment is bolted securely, close over the driv-
ing ram.-

FOR HD-10-H OR HD-12-H POST DRIVER WITH HYDRAULIC BASE PLATE:

After mounting the HBP-909 or HBP-9128 shart channel {step 16 in the operator's manu-
al under assembling the post driver with Hyd. base plate), bolt the safety arm attachment
10 2) holes that are not in use on tha carriage mounting plate (see illustration). Use the 2)
347 % 1-1/4" cap screws and, 2) 3/47 tockwashers provided, Once arm attachment is bolt-
ed securely, close aver the driving ram,

28. CENTER THE DRIVING RAM CYLINDER. Use the (2) Lock Nuis
located at the base of the Cylinder to center itin the Main Carriage

CARRIAGE
MOUNTING
PLATE(S)

Page 9



Page 18

W

EAS

(&)

~N &

®

L S B N R

SM OQ"H SAA SAFETY ARM ATTA@HNIENT

PARTS BQEAKDQWN

SMH0011-SAAG "Sga;;fei;y Arm Frame Only
SMI0011-SAAD Swing Arm Handle Only
SM-0011-SAA13C Roller Holder Complete
SM-0011-SAA7 Spring Stop (3/4” Washer)
SM-0011-SAA16 Holler (2 per Unit)
SM-0011-SAA2 Latch Spring

0015-CC Crank Cover

2]
=

SM»-EO?S—LP Un‘tversal'l_ynch Pin (5 per Unit)
MS 165 Safety Arm Decal

10, MS~ 81 Pinch Point Decal

Al 9 ?;T‘}\

dﬂ"ak\
%y

TOTAL .04



